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ECE 405 QUIZ #5 20 POINTS

. Z/
1. A message m(t) = 5 cos(2nx3000t) frequency modulates a carrier of frequency \3\_0>

MHz. Let ky=27x3000 rad/s/V and let the amplitude of the modulated wave be 0.2 V.
Determine the output signal-to-noise ratio in dB if the one-sided noise power spectral

density of the receiver is N, = 10° W/Hz (no deemphasis circuit is used).

2. A message m(t) = 5 cos(2nx3000t) frequency modulates a carrier of frequency 30
MHz. Let k¢= 21tx3000 rad/s/V and let the amplitude of the modulated wave be 0.2 V.
Determine the output signal-to-noise ratio in dB if the one-sided noise power spectral
density of the receiver is N, = 10® W/Hz and deempbhasis is used at the receiver with W,
= ntfy and B = £, o

3. Determine the minimum value for the carrier amplitude A, if the output signal-to-noise
ratio is 25 dB, and the one-sided noise power spectral density of the receiver is N, = 107
W/Hz, B =5, fn =15 kHz.
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